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Correct the Teacher: Networks
Instructions

Below is a section of theory written by a teacher about ‘networks’. 
Unfortunately, the teacher made a number of mistakes. Read through the text and correct their mistakes. 

There are 9 mistakes – can you find them all?

A computer can either be stand alone or connected to a network. Networked computers do not share peripherals such as printers. A Local Area Network consists of computers that are not near to each other. LAN’s are often found in schools or colleges. A Wide Area Network consists of computers that are geographically near to each other. External communications equipment is used to enable the computers to communicate.
The internet is the same as the World Wide Web. When connecting to the Internet, users can gain access to services such as email and IRC. An Intranet is similar to the Internet but is used within one organisation. You wont need a username and password to log into it. An extranet can be used by anyone who wants to use it.
A client-server network has no central server.  A server performs roles such as file storage and back up. A disadvantage of a client-server network is that back ups are managed centrally. A peer-to-peer network has a central server. Each computer performs its own functions. An advantage of a peer-to-peer network is that software has to be installed on each machine individually. 
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